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Which of the following statement/statements are correct regarding the Portuguese relation with
Kerala?

i) Vasco da Gama reached at Kozhikode in May, 1498

ii) In 1500, the second Portuguese mission under Pedro Alvares Cabral reached Kerala

iii) Vasco da Gama made his second arrival in Kerala in 1502

iv) Portuguese alliance with the Kolathiris was stable and continuous till their exit from Kerala.
Select the correct answer from the codes given below:

(A) Only (i & ii) (B) Only (i & iii)

(C) Only (iii & iv) (D) All statements are correct

Which European power was defeated by Marthanda Varma in the Battle of Colachel?
(A) The British (B) The French
(C) The Dutch (D) The Portuguese

Match the following books and their authors and find out the correct answer from the choices

given:

a) Hortus Malabaricus i) Katchanancheri Namboothiri
b) Mamankam Kilippattu ii) Shaik Zainuddin

¢) Perumal Tirumozhi iii) Hendrik van Rheed

d) Tuhfat Ul Mujjahiddin iv) Kulasekhara Alwar
(A)a—iii,b—1i,c—iv,d—ii B)a—ii,b—iii,c—iv,d—i
(C)a—iv,b—ii, c—i, d —iii (D) a—iii,b—iv,c—i, d —ii

Which of the following statement/statements are correct regarding the first ministry of Kerala
under EMS Namboothiripad?

i) Joseph Mundassery was the Minister for Education

ii) P K Chathan was the Minister for Industries

iii) K R Gouri was the Minister for Land Revenue

iv) K P Gopalan was the Minister for Local Self Government

Select the correct answer from the codes given below:

(A) Only (i, ii & iv) (B) Only (ii & iv)
(C) Only (i & iii) (D) Only (i, iii & iv)

Mansabdari system was introduced by
(A) Sher Shah (B) Akbar
(C) Shah Jahan (D) Aurangzeb
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1. SLhaUIHLD M &8/ M 86088 Eh6T G&TeTTeL 6T CUMTTF&HGR W TS erfler 2.Mey/QSmLTL]

&g s eflwnerg: ers?

i) GLO 1498-6L UMTENVGSEIT LIT HITOM CHMN&ECHTL6ML 6UTHSH60LHSITI.

i) 1500-10 9Y6U0TIQ60 QULGHT Queveumgev G&HELITMTeL SHemeuemouller SLh @) T6uorLTeu Sl
CUNMIFHEFI WS G CHTETTEN6 QUHS 6L HSSI.

iii) 1502-10  L6U0TIQ6V GUTGNVGSHIT LM &STIOM @ JTLmeugSl (WemmWNs Co&IeTmenel
UHSHEOLHSTH.

iv) Qasmeum®fleév 2 Lermer GUTIFHSFRWTSHeflear 2.mey CHFemmeleS(BHSH S|6uTser
QeuerflGMILD 6uem T BleMELME LD, QASTLIFRWMHE|LD @)\ (BHSS.

e srluL@erer MW@ s6fledBHa Erflwmear LS eme CHTe] Q&FUlss.

(A) i &ii DL @D (B) i & iii LLL@\b

(C) iii & iv DL ({LD (D) 316060TS 51 M &M & @EHLD &l meoTemneu .
2. GMFFO WSHSBH 6V 6THS RCTMLUILNW BTH WOTFES600TL. eUFLOMeUTey CSHMTM&HLG&ELILLLSI?

(A) Al geq (B) NQTEH &

©) LE& (D) CUITT&F&HEF WIFS6T

3. GeauBlD USSSMSGET WLMHMIWL emauseallear R fluisener QUTBSSIS; WLMHOMILD
STLUL@erer efl(BLLSCSTeysserfledl(hha FrlwmeT LS emneus & evorLnss.

a) ammyLev wevumiflaseu i) BL&FerEehC&Ifl BLOLL ]
b) LMOMHEISD SefllUmTL® ii) a8 e vl 60T
<) QUEBLOTET FBA LML iii) QamedrL_fl& eumedr fL
d) s1&UML 96V W Tan) G et iv) GVCEFST SLLhEUTT
(A) a-iii,b-i,c-iv, d-ii (B) a -ii, b -iii, c-iv,d - i
(©a-iv,b-ii,c-i d-iii (D) a-iii, b -iv,c-i,d-ii
4. FFeTlDererv BLOLLB LML Semevemnuller S Cararmeilel I eMINHS (NSH6V S| EMDEFFTEM6U

GM &5 SLhal(Hld M) &6 8/ M & 608 Eh6T FIWITers 6TgI?

i) Bevell 9emFFTTH CRMFL (6T CEIfl @ BHST.

i) ATl gienm sjemnsFFyns N G FNs 56T @)\ (BHSTH.

iii) Mlev QUBEUMLIG SlemMm MWLEFTTH CHILT Q&6 @UBHST.
iv) 2_6TenmL& Flemm S ennF&FFTe CHL CHITLIML6T @ UBHSIT.

SCw srluL@erer GMui@Gserflev Erflwmer LS emev C5Te] Q&FIs:

(A) i, i & iv D@D (B) ii & iv DL (B)LD

(©) i &iii DL @D (D) i, iii & iv D@D
5. wrerELlis iy 9jemwlienu MN&LID QEWSe6u:

(A) Qagyaqm (B) o4&y

(C) O19.ITE2 55 T6dT (D) eI EL
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10.

11.

By which Act did the British Crown take over the Government of India from the East India
Company?

(A) The Regulating Act

(B) The Government of India Act

(C) The Pitt's India Act

(D) None of these

Arrange the following events in chronological order:

i) Rowlatt Act ii) Gandhi-Irwin Pact
iii) Partition of Bengal iv) Nehru Report
Select the correct answer from the codes given below:

(A) i, ii, iii, iv (B) i, i, iii, iv

(C) iv, i, i, i (D) i, i, iv, i

Who introduced the Twenty-Point Programme?
(A) Indira Gandhi (B) Rajiv Gandhi
(C) Narasimha Rao (D) V P Singh

Match the following events and movements and find out the correct answer from the choices

given:

a) Stamp Act i) Great Revolution of England
b) Tennis Court Oath ii) American Revolution

¢) Bill of Rights iii) Russian Revolution

d) Treaty of Brest-Litovsk iv) French Revolution
(A)a—ii,b—iv,c—iii,d—1i (B) a—ii, b —iii, c—iv,d —1i
(C)a-iv,b—1i,c—ii, d—iii D) a—ii, b—iv, c—i, d —iii

Which of the following leaders were the signatories of Atlantic Charter?

i) Franklin D. Roosevelt ii) Joseph Stalin

iii) Winston Churchill iv) Chiang Kai-Shek
Select the correct answer from the codes given below:

(A) Only (i & ii) (B) Only (i & iii)

(C) Only (i, ii & iii) (D) Only (ii, iii & iv)

Which of the following processes is primarily responsible for the formation of a delta?
(A) Glacial erosion (B) Wind deposition
(C) River deposition (D) Volcanic activity
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6. SWsHHHWT BloauasSLlGhs QAHSW rms ULy Si5s abs FLLSE 6r
eLN6VLD H6TeUEFLD T(H S S8 G & ITEUOTL SI?
(A) RUBIGUWeMMEF FLL LD (B) @B W S|J&EF FLLLD
(€) NLerv @HHWE FLL LD (D) @e6umnilev eTgI6yLSl6Leme6u

7. smevalflens ArngHe GLheau(bLd FBlsheysaner auflenslu® s Si8:

i) QemeuL FLL LD i) &THS -G Fell6ir LIS
iii) euris e L9 fl el emeor iv) GIH(H SN G5

e srluL@erer GmMui@serflev Erflwmer LG emev CHT6] Q&FIs:

(A) i, ii, iii, iv (B) ii, i, iii, iv

(C) iv, ii, iii, i (D) iii, i, iv, ii

8. 20 9D EFS HLLGMS M(N&LD QFWS S WTH?
(A QBB T &THS (B) prrgfe &MHS)
(C) B&DLD TITel (D) 9 L9 A\

9. Gleupld BISDYSET WMMID @UWESSHISGEMET QUTBSSIS;, WLMHMIWL  SFLULGerTer
Al BLILSCHTaS6 el (BHS Fiflwmers C5Teneu & 6vorL M &:

a) WSHeTEF FLLID i) @BISeLTHS 6T LDMALHLD LT
b) QL étTevll6v LD G Teor 2 MG QLo mL i) Qwfl&Esl Yrle

o) 2 flemwns6r LLEEFETST i) FaqWI TL&)

d) NG e -9 CLTeueE LB iv) Qe &L L

(A) a - ii, b-iv, c-iii, d - i (B) a - ii, b-iii, c - iv, d-i

(C) a-iv, b-i, c-ii, d -iii (D) a-ii, b - iv, c-i, d- iii

10. SLheU(HLD FH6M6EVEUITE EBET L 6VITEUOTI)E &FITF6UTSHH 6L &G W (WS H L L6eUTs6T Wmi?
i) L& erfledr L. e e @ eu6uL.
i) Gm&L eruLmedl et
iii) efledrervL6tT FTEF 6L
iv) AW ens-Gag.&
e srluL@erer MW@ seflef BB Erflwmer LS eme G 6] Q&FUlss:
(A) i &ii D@D (B) i & iii D@D
(C) i, ii &iii DL @D (D) ii, iii & iv DL @D

11. &FLQa/QLEILT 2 (heumausmE&S SLaI(BL QFWEI(INMMEEH6T LINTSTer &ITJeuurnns
@wULS ag?
(A) uesflumenm iy
(B) &MHOTEL gHLUG LD LIg6aY
(©) BH WML FHUGLD LILgey
(D) erifllnemev QFWeLLITH
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12.

13.

14.

15.

16.

17.

18.

What does the contour interval on a topographic map represent?

(A) The distance between two points on the map

(B) The vertical difference in the elevation between consecutive contour lines
(C) The total elevation of the highest peak on the map

(D) The horizontal distance between two contour lines

In which regions of India are Tropical Thorn Forests predominately found?
(A) Western Ghats and Eastern Ghats

(B) Coastal regions of Odisha and West Bengal

(C) Semi-arid areas of Rajasthan, Gujarat and Haryana

(D) Himalayan foothills

The Silent Valley National Park in Kerala is renowned for conserving which type of forest

ecosystem?
(A) Mangrove Forest (B) Tropical Rainforest
(C) Deciduous Forest (D) Montane Grasslands

Which two mountain ranges do the Palakkad Gap separate in the Western Ghats?
(A) Nilgiri Hill Ranges and Nelliyampathy Hill Ranges

(B) Cardamom Hills and Palani Hills

(C) Ponmudi Hills and Nilgiri Hill Ranges

(D) Vindhya Ranges and Satpura Ranges

An increase in per capita income without an improvement in income distribution indicates

(A) Increase in overall welfare
(B) No impact on welfare

(C) Widening income inequality
(D) Reduction in poverty

The RBI's decision to reduce the Cash Reserve Ratio (CRR) primarily aims at
(A) Curtailing inflation (B) Reducing fiscal deficit
(C) Increasing liquidity (D) Strengthening rupee value

A simultaneous rise in GDP and fiscal deficit suggests
(A) Government is reducing expenditure

(B) Government is following expansionary fiscal policy
(C) Private sector contraction

(D) Monetary tightening
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12.

13.

14.

15.

16.

17.

18.

@@ BlevILFTLL euenTULSH 6L 2 61T FINFFT CaHm[H @ enLQeuer] erens s GM &SR MSI?

(A) euemTULSB 6L @\ Fevor( L|6iTer(18 @58 (& @) 6mLuSleVITeuT SMTLh

(B) QMLIEFFRWMeT FEET CaHMHSHEHEHES @6mLulleumer 2 WIHH6 2 6TeT Q&FEmGSS!
Geunmium@

(C) auemMTLILSH 6L 2 6iTem & 2 WTHS F&THS 60T QLTSS 2 WIFLD

(D) @ FevoT(h) FLOEET C&HMTH & EH &GS @) 60LulleumTeT SHemL oL L SIFLD

QB wmeller ehHs NopmhHwunselsy QeuliLneuTLey (WLETHHET IH&SOTSHSE
& ITevoT LI LI () &) 65T M 60T?

(A) CLOMEGH QSTLFFEF LD6M6eVGET MM BPEHESGS QSTLTFE L06m6VE6iT

(B) @& LOMHMILD CLOMEG 6UMBIGTETS B 60T &L CeuTTLI LIS S & 6iT

(C) TITR6N G T6dT, (SRS WMMILD amilwmeTmell6dr LTS WeTey 6umevorL LIS S5 &6t

(D) @) LOWILDEM6V SLY.6UITIY MBS 6T

GareTmelleir | 6emB) LI6TeNS & MEHE CHF WL LLMBISIT 6T[HS 616085 LITEUT 6U 60T (LD6VEmLOLI60LI
UMSISTULUSMNHGS L&D QUMM SI?

(A) &51LILBleVE &TH & 6T (B) @6ULILILD6DOTL6V LD 60D 85 &5 IT(H) &5 61T

(C) @emeuW B\ T8 &T(H & 6T (D) WemeVLILIG S L@ euerfl & el

CLMG WMLGAFTLIFFIUN aThHP @) (H LDEMLVSRASTLISHET LIMLESETH @) 6mL G 6uerlenw
L9718 & erm eo1?

(A) BeuE ] LLEMELG QB ITLITSHET LOMHMID QBFVSWDLIS LDeMeVSHE S TL T8 6T

(B) L& ST LOEMGVEET LOMMILD LILp6ol] LDemeu

(C) QUITEDT(LOLY. LDEMEV & 6T LoMMILD BV T LML SQASBTL TS 6T

(D) el HH W LD6MEVSRGITLTSET LDMMILD FMTSHLTIT LMV S QS TL TS 6T

aumeauml NBICWTEHESH6L (PeTCaTMmMID @6VEVTINEY SHeoflBLT euBeumuisy T &KLy
G LD & 600T L6UM MIET 6T S &FHL19.8 STLH&SMSI?

(A) RLOQWLMSS Beveaurpailey & &Ly

(B) meveumthel6v 6THS ST S (NLD B)6L6m6V

(C) eu@pLormerT &Fog SeuLdlerenin el ifleuemnL g6

(D) sumiemLn G6mMLIL]

Qrmss @uLY aN:sHems (CRR) GeomUugmsmer flefed eum@uier woLg.efledr
(WS 6iTemLOW TeoT GHMTESL0:

(A) LIcooTe & 8 5 60 & & (& 6N M S 6V (B) BIBLI LIMMITE (& 6MMeM LS & 60 M6V

(C) LeTTTLIL|N & &S5 mS 318 &5 560 (D) e LIMUSl60T OB LI6m LI 6usILILI(H & Sl 56V

QLMEs 2 dHTL(H 2 HUSH LHMID BIS LHOTEGMD WHW @@L @Cr CHIS S 6
B &FLULS Qs &HLIESETLOHSHMmS:

(A) 9|78 Q1 &F6v61) 60T MHIG EMEITS (560M S S 6U(H6U S

(B) 3175 elifleurns:s M5 & Q& meTem & el L L9 60T LM mIeu g

(C) ey slemm QFWeLLTH GenMHSI 6UHeUS

(D) Q&FeveleoTs em & & GeMmMLILISI
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19.

20.

21.

22.

23.

24,

25.

26.

Which among the following is the best measure to evaluate the welfare impact of economic growth?
(A) Nominal GDP (B) Real GDP
(C) HDI (D) PCI

Assertion (A) : NITI Aayog emphasizes bottom-up planning.

Reason (R) : It has constitutional authority to allocate financial resources to states.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Who administers the oath of office to the President?
(A) Prime Minister (B) Vice-President of India
(C) Chief Justice of India (D) Governor

Who is the first Chairperson of Lokpal?
(A) Justice AM Khanwilkar (B) Justice Pinaki Chandra Ghose
(C) Justice Sanjay Yadav (D) Justice Cyriac Joseph

In which year, the Right to Information Act was passed in India?
(A) 2004 (B) 2011 (C) 2005 (D) 2006

The power of the Supreme Court of India to decide disputes between the Union and the States falls
under which jurisdictory limit?

(A) Advisory Jurisdiction (B) Appellate Jurisdiction

(C) Original Jurisdiction (D) Constitutional Jurisdiction

If a Panchayat is dissolved, the elections are to be held within a period of
(A) 6 months (B) 1 year
(C) 3 months (D) 5 years

Which of the following is not included in the Fundamental Duties of the Constitution of India?
i) To uphold and protect the sovereignty, unity and integrity of India

ii) To safeguard public property to abjure violence

iii) To develop the scientific temper, humanism and spirit of inquiry and reform

iv) To assure the dignity of the individual and unity and integrity of the nation

Select the correct answer from the codes given below:

(A) i, ii & iii (B) ii only

©)ii & iv (D) iv only
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19.

20.

21.

22.

23.

24.

25.

26.

QUITIBETTSTT euUeTT&F T U 60T HeLEUTLDEY SMTE S SHMS LG LILITILEY Q& Ul S L& 6v0T L6u M mI6iT
FwHs yerei@ ersi?

(A) QUWIFemeYy QNS 2 6THTLGH 2-MHLISS)

(B) 2_600T6MLOWITEOT QIOMS S 2 6THTLH 2-MLISHS)

(C) HDI

(D) PCI

Fgamml (A) : BOBHS CLLCHTESR HLLISILemev NITI 9,CWTs euedl W miSsIF M.
&MTyeurd (R) : IDMBIVBIGEFSHE BT USTIRSGOET @565 IIATFFlwevennlifer G
P &MTD QSHES 2-6wr(®.

(A) (A) LHMID (R) & W @\ Fevor(HILh 2_cuoTemLn, (R) eTedrLI Gl (A) @ 601 &iflwmer 6Slemd &0

(B) (A) mMmIth (R) &AW @ FevoT(HllD 2 6UoTemLD, L60TMT6L (R) eTedTLIG (A) @60t Frlwimeor
allens &1 9{6L6V

(C) (A) 2_6v0T6MLO, 31,60TT6V (R) HEUMITEUTSI

(D) (A) H6UMITEOTS, 34,60TT6L (R) 2_600T6MILO

GLQW TS HemeVeU(H&EGS LGN LNAFL0meorid QEFWG emeullLIeuy Wmh?

(A) YpsLw HESH (B) @b & WiTefletr 51606007 G19.WIIT& &6MEV6UT
(©) @bBHwmeller Hemevenio HE LIS (D) SuEBHT

GouITE LIM6L I 6mLOLIL 60T (NSH6L Hemeueu T WITIT

(A) B WFTEFT gerld seorellevss T (B) B WrET Neormd FhHBT CHITey

(C) BRWTET FEH&F WITSHeu (D) BB wreF Aflwunsg GameLl

6TIH & 4,600TLQ.6V SFHeuevMlw]ld 2 flemwngFsLLLb @) hS wmelilev MlemmGeaummLILILL FI?
(A) 2004 (B) 2011 (C) 2005 (D) 2006

6T S|J&HGSWD, IDMHIVHEIGERSH G @ 6mLUNeUTEr FIFamESHaMmeT (N6 QAFMSNHES
2 FFBHIaTMS B 6T G &ETTMETS 6THS FLL JBS&TT eUFLDL| &G 6T euB&R M S1?

(A) 9L C6VITFEMEIT SIB&ITIT 6UITFLOL] (B) Gev(pemMUi® SIS &ITT 6UIFLDL]

(©) erlgleare SiS\&my eubLy (D) @irFemwLIY FEUNUTET SIS ST UL

LEHFTWSSI/2aTTTLEF L6TMD SHemeuGELILIGLMETTN 6hgd Smuarallh@Ger CxHIsHev
HLSSLILIL Geuevor(hLh?
(A) 6 LOMTG IS 6T (B) 1 3y,6v0T(H (C) 3 DM MG 6T (D) 5 3,600T(H) & 6T

AHSHW ITAWeemnlL] FLLSHT ISQLILIOL SLEMSGEHET GLD&SeoTLeuMMIET 615l

2_6iTeIT L1 & 61l 6L 6t 6V

i. @S wWmelledr @) emmWITeuTenlo, @MMIeND WMMILD HENWLLILTLML [Blemevnl Mg Sieugi
LMHMID LUTSISTLLS

ii. QOUIMTZIF QFNSSI&H&HMETL LIMTSISHTS S 6U6T(NmMenLE 60 & el (& 6L

iii. 9|Mfleflwey WeoTLILIMeiTemD, WElGECHWD MM SEFTFeN6stT LO6GUTLILITETENID oM MILD

EIHMGS5550m5 TS S 2 (B6UTE G S0

iv. & 60r11B L1 1 60T & 600T 60011 LI § 611 & UL LD [6 IT L L9.60T 62 (1) M1 60 L0 60Y LI LL| LD LO M) MI LD 69 ((H6MLO LI LIT L 6mL_LLLD
2 Mm% QFIH6

e sruuL@erer MW@ seflefBHE Erflwmear LS eme G e Q&FUlss:

(A) i, ii & iii (B) ii L @D ©ii &iv (D) iv DL (LD
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27.

28.

29.

30.

31.

32.

33.

34.

3s.

The procedure for Amendment is provided in which part of the Constitution of India?
(A) Part XX (B) Part XXI
(C) Part XII (D) Part XV

Which Constitutional Amendment introduced the anti-defection provision in the Constitution
of India?

(A) 51** Amendment (B) 52" Amendment
(C) 53" Amendment (D) 54" Amendment

In which of the following landmark judgements, the Supreme Court held that the
Parliament could not amend the Fundamental Rights?

(A) Golaknath and others Vs. State of Punjab — 1967
(B) Maneka Gandhi Vs. State of India — 1978

(C) Shankari Prasad Vs. Union of India — 1951

(D) Kesavananda Bharathi Vs. State of Kerala — 1973

73" Amendment Act emanates from which article of the Indian Constitution?

(A) Article 36 (B) Article 40

(C) Article 44 (D) Article 49

Which work is known as the first Malayalam travelogue written in prose?

(A) Varthamanapusthakam (B) Dharmarajavinte Rameshwarayaathra
(C) Kaashiyaathravarnanam (D) Ullkallbhramanam

Which translation work was published by A R Rajaraja Varma in 1895 without using any
Dwitiyaksharaprasam?

(A) Daivyayogam (B) Malayavilasam
(C) Keshaveeyam (D) Meghadootham

The largest Mural Painting ever seen in Kerala is reputed to be in Krishnapuram Palace. What is
the subject of that Mural Painting?

(A) Ramayanam (B) Keechakavadham

(C) Gajendramoksham (D) Geethopadesham

Who is the Malayalam poet who initiated the establishment of Kerala Kalamandalam?
(A) K C Keshava Pillai (B) Venmani Mahan

(C) Machatt Elayath (D) Vallathol

Match the following based on authors and works:

a) Odakkuzhal 1) S K Pottekkatt
b) Randamoozham 2) Takazi
¢) Oru Deshathinte Katha 3) G Sankara Kurup
d) Kayar 4) M T Vasudevan Nair

5) O V Vijayan
(A)a-3,b-4,c-5,d-1 B)a-3,b-4,c¢-1,d-2
(C)a-4,b-1,c-5,d-2 MD)a-4,b-3,c-5,d-2
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27.

28.

29.

30.

31.

32.

33.

34.

35.

QW SrfRweealllear ahHsSL UGSHUNIN BBHSSHHESHEHESHTEOT  [HEOL (DM

@ L QUM mIETeTSI?
(A) LGB XX (B) LGB XXI (C) UGS XII (D) LGB XV

AQHBHW TFAWeeamLING SHLEAG STl SOLEF FLLSMS 6hHS STFRwevenoliLs
G550 ANWsLILESBWS?
() 518 I BSHLD (B) 52°2 BB SD (C) 53*2 BB SO (D) 54 B\(BHS LD

Neteu@ld 6rhs eupummmis SFpuydlss Solféde, osjgluenr 2 flemwngseaner
BITLTEBLOETNSH STV H(hS5S (NLWITS eTeorml 2 58 B nermd SFLiLer5581?

(A) CmmMevsHMS WMmMID LKNMFT Vs. LEHEFTLI IMBlev T8 — 1967

(B) GOewr&T &MHS Vs. @S o7& - 1978

©) sy Nysrs Vs. @S W eeormlwin — 1951

(D) G FeaueTHg LITTS Vs. a6 L0MBlev 3|78 - 1973

AQHHW TP weenlL FLLSEH 6T ahs FLLAIGUNNOBHS 73-6us SHSHHF FLLLD
2 (humSMmaI?

(A) FLLeNS) 36 (B) FL.L 61 40 (C) FLLeNS) 44 (D) FLLeN1S) 49

LLEMEWITETS BV 2 emFHemL U6y TSLILILL (NSH6V LILIETOT BN 6TeiTml eThSLI LiemLLiL|
SIPwLILGSHDS1?

(A) 6UTSHSL0ITEOTL| 6NV & & LD (B) 5TLrmemellerCGL FmGLe6veauFwmgym

(C) &M& WIS [J6U T600T60T LD (D) 2_6iTs60L9 7T 60OT LD

S5\ WMHaqTIAFEmD aansulb LWaTURSSTON 6HS QLMEAQUWTUILL U6 LemL
.91, TTRMe 6uiFLom 1895 9ylb oy,6v0r(®H QeuerfludLLmi?
(A) Qg5 WeuGWITSHLO (B) memevwiafleum&Fld  (C) o Fafwid (D) GLO&ZNHLD

Gapermeiley @ Zeueny SHevorlypmy  WsLourflu seuGrmellwih & (Heg.euorTLFLD
SiFevorinemeruiley  @@GLUIUSTHL L& QUOMBESERMmE. HS &euGrmeilws S eor
&(IHLIQLIT(H 6T 6T6dT60T?

(A) JITLOMWEDOTLD (B) & &H6eugLD

(C) &CRHBHTCOMLFID (D) &CHTLGCHFID

GHEIET HEUMTINEUUTLEVWD Jjemollenll FBlmiald Ueollenwld QSTLBIGW LOem6eVWTeTs
sell@ehT wImy?

(A) C&.9).Ca:saullleiTemern (B) @ 6u6uoTLO6UUT LD &5 IT60T

(C) LDEFTL @ 66T (D) 6u6L6LE GBS ITET

2, A lwFs6T MM LemL L &erfleir 41 L1LemLullev SLh&6uoTLeuMemm QLIT(HS SIS

a) PLHGSLP6V 1) eTélv &% QUTLCL&SHT(H
b) FevoTLeLpLpLh 2) el

<) R CHEFHB 6T &0 3) Y. FRISTS & HLI

d) sullo 4) eTID 19 6UITEGF6U60T [HITWIT

5) 6@ 6l eflgywiedr
(A)a-3,b-4,c-5,d-1 (B)a-3,b-4,c-1,d-2 (C)a-4,b-1,c-5d-2 (D)a-4,b-3,c-5d-2
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36.

37.

38.

39.

40.

41.

42.

43.

44.

45.

The first newspaper in Malayalam was born in the month of June, 1847. Identify the name of the

newspaper.
(A) Rajyasamacharam (B) Paschimodayam
(C) Paschima Tharaka (D) Njananikshepam

Which Chavittu Nadakam is known as the first Chavittu Nadakam performed in Kerala?
(A) Alleshu naatakam (B) Plamena charithram

(C) Carlmans charithram (D) Genoa naatakam

In which sport is the term "bogey' used?
(A) Golf (B) Badminton (C) Tennis (D) Cricket

Who was the coach of the Indian Men's Hockey team during the Tokyo 2020 Olympics?
(A) Roelant Oltmans (B) Graham Reid
(C) Ric Charlesworth (D) Harendra Singh

Which city will host the 2028 Summer Olympics?
(A) Paris (B) Brisbane (C) Los Angeles (D) Rome

Which memory unit is the fastest and closest to the CPU in the memory hierarchy?
(A) Cache Memory (B) Flash Memory
(C) Main Memory (RAM) (D) Secondary Memory

Which of the following is an open-source operating system?
(A)iOS (B) Linux (C) MS DOS (D) Windows

Which transmission medium is the most suitable for long-distance and high-bandwidth network

communication?
(A) Coaxial cable (B) Microwave
(C) Optical fiber (D) Twisted pair cable

Which of the following is the primary function of World Wide Web?
(A) Accessing multimedia content and documents using hyperlinks
(B) Managing IP addresses

(C) Secure file transfers

(D) Online gaming

Which section of the IT Act, 2000 deals with the punishment for publishing or transmitting obscene
material in electronic form?

(A) Section 65 (B) Section 66 (C) Section 67 (D) Section 70
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36.

37.

38.

39.

40.

41.

42.

43.

44.

45.

LEOEOWTMSHL WHN QFWRSSHTET 1847 POehT LMHS5HL Qeuelwmers. SHS
QF WG GG merfl6tr QILIW6ENT 3|60 LITETLD &IT600TS.

(A) TQWFOMFFTTLD (B) LI6VFGLOMSHWILD
(C) LEVADIT HTTSIT (D) @bmeoTBl&HCaqLILD

Gapemmeilel BIGWLSHLULLL WHL FellL(® BILEHLD eerm SempsEslu@n Fell@®
BITL&LD 6TSI?

(A) 916VCB6VE [HITL&LD (B) Wevidleorm &S T

(C) ssmiyeuLneiTerv FiflgSH b (D) Q22G6uTTEUIT BITL&LD

6TH s eflememmLLgeL “CUTE” (bogey) 6T6dTM QEMMAMITLF LWeTURSSLULGSRMSI?
(A) GmmeL s LI (B) GUIL_LS) 6v0T L_60T
(C) QLedrevflerv (D) A fl&EQ L

CLM&HGWT 2020 edbNs CuMLIquiler CUME @HHW SL600TH6T aNTHEH 2 evolludlesr
LUHA WIMeT e @ (BHS 6T WITH?

(A) GITITE 6VITEUOTL. €26V L.L06EDTEMN (B) @ yammid L
(© 118 FmFVELATTE (D) eamCrH ST Fr

2028 C&Me0IL &8 M6V 669110198 CUITLLY.&6m6T HLSHSLICLITEGLD HSFLD 6T51?
(A) umrriflerv (B) 9 fleru@Liedr (C) 6uIT6NV 6 (EHF6LEMN (D) Gy

Blemeoreus LG Hlemeuulley eThg Mlememeuds 9j6vE CPU &© W& Geuslnmenrsl LMmmin 16ls
SIBHE 6L 2_6TeTSI?

(A) G5 & BlemeuTeuss LD (B) »L96mmelq BlemevToussLO

(C) WS 6tTemLn BlemeoreussLd (RAM) (D) @\[F6UOTL.ITLD [B16016V [B]60)60T6U S LD

L9 edreu (meueoreummleL T8 HIMIHS eL6v @) WIS SeTLd (0S)?
(A) iOS (B) e96oT8 61V (C) eTLD6T6IV LIT6MV (D) elevorGL Terv

BeooTL. ST WHMID 9B& amevalflens auensuwenoliL] S&euel LUFITHMSHMES aTHS
uflrmm 2srL &b W&y QLITH S SL0MeoTs?

(A) CaMaLE&F W6 GasLierT (B) 60108 G TGeusu
(C) 8LLI.86V senuUT (erfluflemLp) (D) WL MISGSHLILILL @) emevor GasL6T

L9l 6dT6u (1H 6u 6oTEU M NIl 6L 2_Gu B ETITENI W @) 61 600T LI & 61TS B 60T (WWW) (L& 60TemL0 Q& WL LIT(H 6TSI?

(A) emamLILFeSBIEHemenL UWeTUGSS L06LIGISIQWT 2 6TeMLESSmSUID oM mID
1,611 600T 61 5 60 6T LD | 51 & LI QLI 1M1 &6V

(B) 219 W seauiflsener mlTeud g e e60

(C) umgsmLaumeor G& UL Lflomm m ki & 6T

(D) S1,60Tem6ev 60T GoLAIMI

IT FLLID 2000 et sl LNflay, SUTEFLLMeT eflagBkIGemeT LOl6TETED 61L6u8 H 6L
QeauerflWBeUsMES 6VELGI LITLIL6USMETeoT &6vorLemenrLl LIMN) GMILLE G ma?

(A) 91fley 65 (B) L&y 66 (©) ey 67 (D) Y6y 70
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46.

47.

48.

49.

50.

Montreal protocol is

i) An agreement for the conservation of the ozone layer by phasing out the production of ozone
depleting substances

ii) An agreement for the conservation of the ozone layer by reducing the consumption of ozone
depleting substances

iii) Signed in 1987

Select the correct answer from the codes given below:

(A) Only (i) (B) Only (ii & iii)

(C) Only (i & ii) (D) All of the above (i, ii & iii)

Methane has a lower global warming potential than the following greenhouse gases:
i) Chlorofluorocarbons, Nitrous oxide

ii) Nitrous oxide

iii) Carbon dioxide

Select the correct answer from the codes given below:

(A) Only (iii) (B) Only (i & ii) (C) Only (ii) (D) Only (i)

Insitu biodiversity conservation methods are

i) Zoo

ii) Zoo and gene banks

iii) National parks and biosphere reserves

iv) National parks and sanctuaries

Select the correct answer from the codes given below:

(A) Only (i & ii) (B) Only (i)
(C) Only (iii & iv) (D) Only (iii)

The 'Great Pacific Garbage Patch’' is mainly composed of

i) Heavy metals and wood ii) Plastics and Microplastics

iii) Floating plants iv) E-waste

Select the correct answer from the codes given below:

(A) Only (ii) (B) Only (i & ii) (C) Only (i & iv) (D) Only (iii)

Eutrophication is caused by excessive input of

i) Phosphorous ii) Nitrogen

iii) Calcium and Uranium iv) Sulphur
Select the correct answer from the codes given below:

(A) Only (iv) (B) Only (i & ii)
(C) Only (iii & iv) (D) Only (ii & iii)
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i) @Ceumedr D &HMEG FMFHEGID QUMIBLBMET 2. MUSSH GQFeIems LIGLILILGWTS
Bl M15 51618 60T eLN6VLD RCFMET S(H&M&L LIMSISTLLISMETEr @IF eLILIBHL0

i) GerumeiT HHME FMBEHGID QUTBLSMETL LWATUOSSIUMSE (860 M LILIG 60T
eV RCHFMeT (B &ML LIMSISTLULSM&ETET e @LUUBSLID

46. LomevoTLIfev-2L1LIMG S QBN (LD6mM 6T60TLISI

iii) 1987-6L ema&QWMULLAILLILIL L SI
e sruuL@erer MW@ sefledBHa srflwmer LS eme CGFHTe] Q&FUlss:
(A)i L@ (B) ii & i LLLGID
(C)i &ii LMD (D) GLOM & 6EUITL. S|6MEUTSH SILD i, ii & iii
47. 185Cs60r LeTeou(hld LIG6MD G)6V6V UM EHMENS SIS (GHeMMEUTeT 2 606 medlw
QeULILILDWILDITS 6V BM6em6urd 68 Teuor (D) 6ITermgl
i) @Cemm ML Gem TGS T LIGITS 6T, 6MBL. TN 4,860 & ()

i) emBLIeL & en&F D .
iii) BTTLGT 0L 3L,560F (B

e sruuL@erter GMuG serfled BB Frflwmer LS eme CH e Q&FUlss:

(A) iii LD (B) i & ii LD

(C) i @D (D) i @D

48. @WmMensWmerT eumpellLgB6L LIeLsIudlT LIMSISTLIL] (DeMMEETITS @) 606U 6T @) (H & S 60T M 60T
i) 2. uliflwev LBisT
i) 2.0 lwe6L LRSI oMM WFLUSD 6uki&) & 6T
iii) CEFIW U,MBISTEHS&6T MHMIWD 2 ullT8Ca e &ITLILI&BIS 6T
iv) & W LLMISTSSGET L0MMILD & IJ600T TEV LU I & 6T
e sruuL@erer MW sefledBHa Erflwmer LS eme CHTe] Q&FUlss:
(A)i &ii D@L (B) i LL@ID (C) iii & iv DL @B)LD (D) iiii D@D

49. ‘LTQUEBL UFILNE GLUUS QSTLIQUN6L" (D& WIDTE 2 6T6TL MG Wemel:
i) &H60T 2_.GEUMTSHMIG6IT LoMH MILD LOITLD
i) LN emmeru19 8@ &6 M mILD Bievor LI6ImTeruLy & (& & 6T
iii) N & & (SLD STeuy k& 6T
iv) letr H6 &6t
&Cp LUl @erer GMIuiG&eed BB E Fiflwmer LS enev C5Te Q&FIIS:
(A) ii LB (B) i & ii LD
(C)i &iv DL @b (D) i DL @G\

50. 9IB&sLILLgWITer 2 aTeflLmeL WL CrmsliGsaqer (5l6v 2ar L IbFBlenma6v) gHUBGSH M

i) LmeruLIFerv ii) emIBLIyeQ60T

i) HTOLEF WD L MHMID W Creflwib iv) geouT

e srluL@erer MW@ sefledBHE Erflwmear LS eme CHTe] Q&Fulss:
(A) iv DL @1b (B) i &ii D@D

(C) iii & iv D@D (D) iii & iii DL @D
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52.

53.

54.

5S.

56.

57.

58.

59.

60.

If x — 4, x — 2 and x are prime, then x + 2 is

(A) A prime

(B) A composite which is the square of an integer

(C) A composite which is not the square of an integer

(D) A composite which is a multiple of 5

If increasing 10 by x percentage gives the same value as decreasing 30 by x percentage, then
what is x?

(A) 10 (B) 30 (©) 15 (D) 50

The diameter of a wheel of a car is 77 cm. How much distance will the car move during 1000
revolutions of the wheel in meters?

(A) 2420 (B) 770 ©)77 (D) 1210

A sum was put at simple interest at a rate for S years. If it was put at 2% higher rate, the amount
that could have earned additionally is 5000/-. Then the sum is

(A) 5000 (B) 25000 (C) 50000 (D) 20000

The ratio of three numbers is 3:4:5. If the sum of the numbers is 60, then find the sum of squares
of the numbers

(A) 1250 (B) 4000
(©) 2250 (D) 5000

5 men complete a work in 3 days and 3 boys can complete it in 5 days. Find the time taken to
complete the work by 4 men and 2 boys.

(A) 1 day (B) 2 days (C) 3 days (D) 4 days

The area of a circle with perimeter equal to 39.6 m is equal to the area of a rectangle. What is the
breadth of the rectangle if its length is 27.72m?

(A) 3.6 (B) 6.3
(C)4.5 (D) 2.4

Find the number which when decreased by 12% becomes 1760?
(A) 2000 (B) 1000
(C) 1200 (D) 5600

Thomas bought a furniture item for Rs. 4800. If he had to spend Rs. 1200 for polishing the item
before selling, then find the profit or loss percent if the selling price is Rs. 5400.

(A) 1% profit (B) 1% loss
(C) 5% profit (D) 5% loss

(625)0.16 X (625)0.09 o
(A)5 (B) 125 (C) 625 (D) 25
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51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

Xx—4,Xx—2 1Mol X 3G W6 LISIT eTe00TSH6TTS @) (HHST6V, X + 2 eTedTLI S
(A) LISIT 6T600T

(B) (1 Fa.L_(h) 6T600T, 3|51 ([H (LO(LD 6T6TOTEU0N 60T 6UTSHSHLINME @) (HE G0

(C) @D FaL_(B) 6T600T, 3| 62(IH (LD(LD 6T6T0TEU0I 60T 6UTSHSHIOME @) 6V6VITS Sl

(D) 5 @) 60T QUI(HSHHVITH @) (H&SHESLD Fal_(H) eT6v0T

10 8 x #5655 ML B &FILILG 30 B x FH56i55 5 M6V GenMLILIG CUITETM |CH LG LIenLIg
Q&ETHISSHITEV X 6T60TLISI 6T6OTEOT?

(A) 10 (B) 30 (€) 15 (D) 50

@@ &THler F&H&ETHS 6T LD 77 QF.15. &G 1000 (M SLOIDCLIMTS ST 6T6U6U6TE
ST BLLT 9erailéu H&(HLD?
(A) 2420 (B) 770 (C) 77 (D) 1210

R0 QFTMs 5 YOTGH&HEEEHG @@ GSOIUNLL el el aARNFSHH0 wWsHeSH
QFEWWLILLL G 3h5s Q5 Tan& 2% 95 & a1y AR5 5L (WHSH Q&FWIWLILLLYIHHS T,
Fn(0 S6VITE T5000 FH6v)L & B (H&(GLD. | LILILGWIITETITEV, S{HS SF6V QG ITEN 6T6LUGGTE?

(A) 5000 (B) 25000 (C) 50000 (D) 20000

eL6iTMI eTevoTS 6160 NG G LD 3:4:5 TOTLUSTH QHSERMSI. HS 6T600TSH 6 60T Fal(H)GHC ST 5
60 915 @\ (HIHS TV, 3|HG 6T600TT6IT160T 61T & MhIG 6 60T Fol(H &G & TEM &MWL & & 600TL Ml WeyLD.
(A) 1250 (B) 4000

(C) 2250 (D) 5000

5 9L600TH6T 6(H GCeuemeveml 3 BITLSG6NL QFWG WEHaTmerry. 3 Fmiaufser 9CH
Geauemeuemil 5 [HITL G660 (LN19.8:8 @) WSVILD. 4 S),600T8 6T L0 M MILD 2 T\ MICUTSH 6T 96 S5 C6uemeuemLL
QFWS WYLULUSME adh &G0 CHTsenss &e6vorLnlwleyLb?
(A) 1 BTeiT (B) 2 IBITL&6IT
(C) 3 BITL 6T (D) 4 BITL&6IT

39.6 1S &HMMETEY Q&TEUITL (H QUL LSH 60T LITFLILIETEY (h QFeUeusSHH 60T LIFLILICTeY &G E
FLOWD. QOFUUSS B 60T HeTh 27.72 1S 94,8 @) (HHSITEV, 3|5 60T S|&6VLD 6T6OTCOT?
(A) 3.6 (B) 6.3 (C)45 (D) 2.4

& ([H 6TGUOTEM 6TOT 12% (&6MM & B T6V 1760 LB MS) 6T601160, I [H S 6TEVOT6M 6TOTS & 6ToT L N1 LI LD.
(A) 2000 (B) 1000 (C) 1200 (D) 5600

SMO6V @@ UTalFFF-3 48005@ euMEIGRerTy. ems aMUSMHES  (P6eiTL
QULIHFLHUFMHEHETEH 31200 QFVaNSH(BHSTL, FT elMuemner allemev IT5400 L5
E\(H& G LOTEUTITEY, GUITLILD B{6V6VEI HOL F&6THE M S &e6vorL MW ea]LD.

(A) 1% @e6vmrLULD (B) 1% HaxqL_LD

(C) 5% @e6vmuLd (D) 5% HarqL LD

(625)0.16 X (625)0.09 =
(A) 5 (B) 125 (C) 625 (D) 25
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62.

63.

64.

65.

66.

67.

68.

69.

70.

Find the odd one out from the given data
(A) Radium (B) Oxygen
(C) Chlorine (D) Hydrogen

If the sum of two numbers is 150 and the product is 45, then what is the sum of their reciprocals?

1 3
(A) ﬁ (B) 10
1 10
© 75 D) 3

What is the angle between the hour hand and minute hand of the clock at 12.20?
(A) 120° (B) 110° (C) 250° (D) 240°

If 26 January, 2025 is Sunday, then what will be the day of 26 January, 2028?
(A) Friday (B) Tuesday
(C) Wednesday (D) Thursday

If "EARTH" is written as "FCUXM" in a certain code, then how is "SPOON" written in
that code?

(A) RONNM (B) TQPPS (C) TRRSS (D) TRSRS

What is the value of 40 +10-4+32+~ (4 +10+2 -1)?

1_6 13
(A) 4 B) 3 (O ® 3
1
The n term of the series 5, \/5, 1....is E Then n is
A) 11 (B) 10 (©)12 (D) 13

Raju moved 10 km to the east and then turned right moving 20 km. After that he turned left and
moved 10 km. Finally he turned left again and moved 35 km. Then what is the shortest distance
from the starting point to the end point?

(A) 20 km (B) 25 km (C) 30 km (D) 35 km

Sumesh is 13 ranks ahead of Ramesh in a queue. Ramesh is 19" from the last. Rajesh is 5 ranks
behind Sumesh. Arya is 8 ranks ahead of Rajesh and 3 ranks ahead of Sumesh. If Arya is 39" from
the front, then how many people are there in the queue?

(A) 74 (B) 75 (C) 72 (D) 73

Raju is the son of Ram's father's sister. Vikram is the son of Radha, who is the mother of Arun and
grandmother of Ram. Kesu is the father of Priya. Kesu is also the grandfather of Raju. Radha is
the wife of Kesu. How is Raju related to Radha?

(A) Nephew (B) Son (C) Grandson (D) Son-in-law
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

QaMH&sLILLLMM S BHS QUITHHSTSH 66Tenma & 6vor Ll eyLd.
(A) Griqwib (B) 31,8 65122601
(©) &Gerrmifledr (D) emaum LIy 83607

@\ Tevor(h 6TevoTS& 6160 Tl (HSQS TS 150 SLH6D, SjeuMMI6T QLIHESHMHLICVET 45 9186 LD
B BHSTEL, UMM 6T HeMeLBLD 6T6UoTS 6Tl 60T Tl (N G\ S TEM &5 6TEOT6UT?
1 3 1 10

(A 150 ®) o © 5 0 3

12.20 eo0ll&EG SHUHETISH6T 6wl (NETEFHGWL BILIL (N6TEH&GID @enLGu 2 6iTerm
G&ITEUUTLD 6T6OTEOT?
(A) 120° (B) 110° (C) 250° (D) 240°

ageureui)f] 26, 2025 @@ MUIMMISGHLNEMILD TeOTMITE, 26Teulfl 26, 2028 | 60TMI 6TEOT6OT GLNEMLOWIMTE
A B&GLD?

(A) Qeueiterfl & &HLpemLn (B) Q&FeueuMLIGE&RLD6mL0

(C) Uz eTH LPEmLO (D) elwmp &S Lpemin

@@ GMIULINLL GMuiiqev "EARTH" eT6dTLIg "FCUXM" 6T6dTmI 6T S LILILL TV, 9|85 &ML
wemmuileéyL "SPOON" eTeUeUMMI 6TWDSLILI(HILD?
(A) RONNM (B) TQPPS (C) TRRSS (D) TRSRS

40:10-4+32+(4+10:2-1) @ 65T IDG\LIL] eTedTe0r?

16 13
(A) 4 (B) 3 ©s 0 3

1
5, \/5 L [ 6160t Q&ML Ifl6dT n-6ugl 2 MILiL] E OL,5 @\ UBHS TV, N GTETLIGI «eoeverererererenennnnnnns
(A) 11 (B) 10 (C) 12 (D) 13

Trege GPHEGs 10 6.8 Q &6y, L6Teor T ausu g LMD S (HLDLY 20 .15 ST QEFTMTT. 3|8 60T
VMG, eur @LSILMD S ;B 10 S5 STD QFaTHITY. HOLAWTS, Sjeulf LSeor@ Wb
@LgILmD SH @B 35 &.15 STFL QFSTMTT. LILLGWITETTE, QS TS LeTerfludled (b b Si
@IS Leiter& & @ enLCuwimerr &S Gemnmbs SMTLD eTeoTeur?

(A) 20 B8 (B) 25 &8 (C) 30 &8 (D) 35 &8

&G aq auflemsulleL FELOMaY 68lL 13 @)L M5 6T (LD 60T6UT IT6V 2_6Tem T, FEL0 6 &60L & @) L& H 6L
@ BHSI 196ug QLSG6L 2 6Ty, &HEaAY™EH G L6TeormeL FTCR6Y 5 @)L M6 LI 6reurmey
2 _eiremmy. L lwm, FrCReay &H @ 8 @ LMIGE6T (LN6IT6rsTHa|lh InMMID &HELaAYTE S 3 @) LMHIS6T
(DETETH MG 2 _6TeMT. (NETUSSHSH @BHS 39-aug QLSH urflum @ubHSme,
65 aulemaulleL 6185 emeot GLIT 2_6Termeor?

(A) 74 (B) 75 (C) 72 (D) 73

gmege, Frdler &hengulleT FC&Ms N ludletr L& 6or. e & LD [7TETeS 60T D& 60T. S 6UIT (I 6voT]6oT
S, ridlesr LMLLg. G& & LW mell6ir Hen . 8 &, T Teg~ el 6T &S G TeUMS YLD @) (H&H M.
T, G&&686r Lnemeurall. [FIT&TEY& ELD [JTEI°8GLD 6T60T6T 2_M ey (LNemnm?

(A) 2_L60r LM 6urfledr L0 6T (B) L& 60T

(C) Guyedr (D) LO(HLO & 60T
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71.

72.

73.

74.

75.

76.

77.

78.

79.

Seventy kilograms more than anyone can lift easily.
(A) are (B) is

(C) will (D) shall
She is elder her youngest sister by 4 years.

(A) than (B) of

O to (D) by

I am good at grammar, ?

(A)am 1 (B) amn't I
(C) aren't 1 (D) are I

Change into indirect speech:

He said, "I will return this book tomorrow".

(A) He promised that he would return that book the next day
(B) He said he will return the book tomorrow

(C) He offered to return the book tomorrow

(D) He promised he would return the book next day

Identify the correct spelling

(A) Phoenix (B) Pheenix

(C) Phinix (D) Phoenex

If you had studied well, you the examination.

(A) will have passed (B) would pass

(C) would be passing (D) would have passed
Kids are fond games.

(A) about (B) of

(C)in (D) by

The idiom 'a red-letter day' means.

(A) a day of bloodshed (B) a very important day
(C) a day of martyrs (D) an unhappy occasion
I came across a of girls in the park.

(A) pack (B) pride

(C) bevy (D) gaggle
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80. The word 'scapegoat' means
(A) an escaped goat (B) a goat which is sick

(C) a goat kept as prey for a wild animal (D) a person blamed for someone else's wrongs

81. Opposite of 'extravagant’
(A) intelligent
(C) lavish

(B) thrifty
(D) foolish
82. The expression 'sine qua non' means.

(A) an essential condition (B) none is qualified

(C) do not sin (D) none of the above

83. Choose the correct sentence

(A) He is writing for two hours (B) He has been writing for two hours

(C) He writes since two hours (D) He has been writing since two hours

84. Find the passive voice of "'When did you buy the boat?'
(A) When the boat was bought? (B) When was the boat bought?
(C) When did the boat bought? (D) When did bought the boat?

85.  Choose the singular of 'data’.

(A) datem (B) datam (C) datum (D) datim
86. 'There is little water in the glass' means
(A) There is some water in the glass (B) There is very little water in the glass

(C) There is no water in the glass (D) There is enough water in the glass

87. The phrasal verb 'put off ' means.
(A) To put something outside (B) To put something away

(C) To extinguish something like fire (D) To postpone something

88. It may take time to to new situations.

(A) adopt (B) adept (C) adapt (D) accept
89. Kiran's pen was than that of Arun.

(A) bad (B) worse

(C) worst (D) worsest

90. The train when he reached the railway station.

(A) is leaving
(C) had left

(B) has left
(D) will leave
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91.

92.

93.

94.

95.
96.

97.
98.

99.

100.

Frflwmerr Q&EmLemevs GMILILNH &.

(A) SisLiL|eoTy (B) &g 1L 6v0TI} (C) SITRILIL BT (D) S{sIL|6OTIT

giflwmer QEMTMAMTLTE &L (B 8.
(A) &TLIQOBHS ST UbHSSI (B) BTLI460(G6S18 ST1q UHSS!
(©) BTLIGNBH SIS &L 6uLhSeor (D) ML BHS! &7 6uLHS 60T

Whirlwind - 6TédTm S4B 6vF Q&FmMev6edledr HLALDLI QILITIH6IT
(A) &L6L BTHMI (B) &LD6L ST MI (C) Blevs &mH M (D) QUG TH M

Kemwpserhm QEmrmAMILenys GSMILIN G &.
(A) LDLENEM S (&6TEBH6L L& G LD L06VIT §)6V6V
(B) LD6LEGIEM S (56TS B 6L LLG(GLD LD6VIT 3]6L6V
(C) DELESEM S (S6MMSHB)6V LLE (GLD LD6VIT S]6oTmI

(D) LD6LESEM S (G 6TS B 6V LL & (GLD LDV 3|6LEM6V

niens - Nfl505 W s.

(A) SIMEl + & (B) &0 + 605 (C) &ILh + NS (D) &5 + &

Fiflwimeor QUITIBET SHLD RQTWS S @AM 6r5I1?
(A) G5 - C5H BV (B) & - gHMLD (C) 1 - eurredr (D) BT - [HT6T

SUMITET THTFQFMLMVS CHIT6Y QAFUIS.
(A) @76y x LIs6V (B) S600T6MLD x G EULDEMILO

(C) NEBLILY x QeumiLiL] (D) 9I1&VMSI x CUITSTS

wri], o - 269 CaumILIMLLY6TLL FFWTeT QLIMTIHm6Ts: Ja M.
(A) UTS), LemMm (B) GLOM& LD, 66015860
() emp, Geumy (D) S®, &56y

QUMTBHSTS QFTLem6V T(H S S 6T F18.
(A) @uibhmiSlp (B) @& H5 81D (©) @enss5181H (D) BTL&S 101D

RHEnLD LicTenln LNempsermm QETMAMILenFs GMILLN G 8.
(A) LOT6OTS: 6T Geus LTS 6 (H) S 6dTm 60T (B) LOIT6OTS: 6IT GEUS OIS 619 S

(C) LOMeOTSH6IT GaUSLOMS 62 () 8 60T M 60T (D) oMt 6T GeuasLOMS: 6 (h) G\ 60T M 6T IJ
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